E3E
O e

Series RRSS2/2

SET-2
LTI 56/2/2

T 3. qlienell JH-9 IS i IT-GRETH b
Roll No. qE-y8 W ey ford |
Candidates must write the Q.P. Code
on the title page of the answer-book.
qie NOTE

(D % J9 o ok 39 g9-99 7 giga (D
I8 27 % |

ID $wn S = o % 3@ gww °4 dD
33T ¢ |

Please check that this question paper
contains 27 printed pages.

Please check that this question paper
contains 33 questions.

e (1D yH-93 | afed g1y sl 3R few ww (IID) Q.P. Code given on the right hand

R

% Y99 hIg i el IT-gfedent &

¢ TETE W o |

(V) suan e @ I e wE s a aV)
R Ugel, IWYEaRT ¥ U9 T HHIE

B araeg ferd |

(V) 39 Y93 <l 94 & e 15 fime &1 (V)
oy fear = 2 | ye-ud & faaw
e H 1015 o9 fem Smom |
10.15 ST ¥ 10.30 S5 dh ST had

U9 ! T 3T 3H I o R
J IT-GEIhT W I3 IR &1 foaE |

side of the question paper should be
written on the title page of the
answer-book by the candidate.

Please write down the serial
number of the question in the
answer-book before attempting it.

15 minute time has been allotted to
read this question paper. The
question paper will be distributed
at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will
read the question paper only and
will not write any answer on the
answer-book during this period.

R femF (dAg=ae)

CHEMISTRY (Theory)

Reifa aas : 3 o2

Time allowed : 3 hours

371HaT 37 : 70

Maximum Marks : 70

56/2/2-12 1



AET1eTIGd 19597 %1 SI9E® T16T 37K 377 JIer7 HiloT :

(1)
(i)
(iit)

(iv)

v)
(vi)
(vit)
(viti)

$9 7-979 4 383 I97 & | @t I97 SHAATH & |

I J97-T7 el GUS] 7 [F95id & - @UE &, @, T, TG & |

GUE & - Jo7 &I 1 & 16 7% Tglaswediq JoR & Jo7 & | JF Fo7 1 37 #7
&/

GUE & - ¥37 T&7 17 @ 21 7% 377 Tg-3T1T FHR & J97 3 | 9% o7 2 3hl
HE |

TUE T §97 T&IT 22 T 28 T TG-FF0T YHR & Jo7 & | % 97 8 371 T & |
UL T 7 G&IT 29 7T 30 FG-TENRT J97 & | Fedieh Jo7 4 371 &7 8 |

Vg & - 97 G&IT 31 T 33 FIH-370T BN & J97 & | F9% J97 5 b1 FT & |
J57-97 § gHy fdHey 781 1337 31 8 | FE, @vs & & SfalkE 37T ¥ §usl &
P oI G HTARF Ay BT T 1337 T & |

(ix) &7 § 1% giecanaa ghanfe & forg s 3v7-77 8 |
(x)  @egpeiet F ITIIT afid & |
@UE &®
Y7 §&1 1 & 16 T Tglaehedid YR & 1 3% & J97 & | 16 x1=16
1. 3 wemm § MnO, % 19 SO, % STl &1 3G § -

(A) SOy B) SO;

© s D) 8,05
[Co(en)3]>* § Co ! IUHEEASH TEA § :

A 3 B) 4

C) 5 (D) 6
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i1)
(iti)
(iv)
(v)
(vi)
(vit)
(viiy)
(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E - questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each.

16x1=16

The product of oxidation of Sog_ with MnO, in acidic medium is :

(A) SO, B) SO;
2— 92—
© S D) 8,02

The coordination number of Co in [Co(en)3]3+ is:

A 3 B 4
€ 5 (D) 6

56/2/2-12 3 VWMWY P.T.O.
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3. TmfciRed g%ai § & SH-91 3ERHRd § ?
(A)  [Co(NHg)g Clg]
B) [Co(NHs), Cly] Cl
(C)  [Co(NHg)s CI] Cly
(D) [Co(NHg)gl Clg

4. TfafEa 5 9 s sffas gamse 8 2

wn Or
X
w QL

CH
/ 3
C—X

= \CH3

CH, - CH, - X

CH, - CH- CH,

o I
X

5. frafafga @ @ forgehl qormn d§ $HTa &1 oT<lig § ?
(A)  UIATA

(B)  o-TgerhiHTeA
(C)  o-HATFTHMTA
(D)  o-HfIThHTA

6.  HI & @1 1ffshan stk (CHg)3 C— O — CH, &l &
(A)  (CHg)3 C-1+CH3OH
(B) (CHy)3C-I+CHg-1I

(C) (CHg)3C-OH +CHg-1

(D) (CHjy)3 C - OH + CH;0H



&

Which one of the following complexes is non-ionisable ?
(A)  [Co(NHg)3 Clgl

(B) [Co(NHg), Cls] Cl1

(C) [Co(NHg)s5 Cl] Cly,

(D) [Co(NHjy)gl Clg

4, Which of the following is a benzylic halide ?

wn Or
X

» QO
3
Lz

CH, - CH- CH,

o 7
X

CH, - CH, - X

5. Phenol is less acidic than :
(A) ethanol
(B)  o-nitrophenol
(C)  o-methoxyphenol
(D)  o-methylphenol

6. (CHg)3 C — O — CHg reacts with HI to give :
(A) (CHg3C-I+CHZ;OH
(B) (CHg)3C-1+CHg-1I

(C) (CHg)3C-OH +CHg -1

(D) (CHg)3 C-OH + CH3OH

56/2/2-12 5 VWMWY P.T.O.



7.  UfEiE e d 9 feemes wHifeom @ fafda gt 2 2

(A) =g ITF

(B) I
) afafafess
(D) AfeTer 377

8. Tl ¢di o feganefl fact=a =1 Fa¥HTh 39 THI gdl & Uk H IR JIdl 8
S ¥g
(A) GJ< @

(B) U3ee fm | yarcHes o aurfar 2

(C) U3ee fam | =Rurcnsh fo=e T ewilfar @
(D) U3ce 99 ¥ +iE faaem 81 gonar 8

9. S CuCly % Toe[a-319eed & R -
(A) TS W Hy (g) Fod &Il B
(B) el W Cu fifa grar 2
(C) UHIE W Oy (g) I Bl &
(D) %elig W Cly (g) G &I B

10. Tt yem wife i erfufsran Y erddamy 1386 Thvg ® | erfufsean wr am
s (k) 2 -
(A 05x10°s!
B) 50x10 st
(C) 5x102s7t
(D) 05x 102s!



7. Aspirin is formed by the acetylation of :
(A) Benzoic acid
(B)  Phenol
(C)  Salicylic acid
(D)  Phthalic acid

8. An azeotropic solution of two liquids has boiling point higher than either

of them when it :

(A) is saturated

(B)  shows positive deviation from Raoult’s law
(C) shows negative deviation from Raoult’s law

(D) shows no deviation from Raoult’s law

9. During electrolysis of aqueous CuCl,

(A)  H,(g)is liberated at cathode
(B) Cuis formed at cathode
(C) O, (g)is liberated at anode

(D)  Cl, (g) is liberated at cathode

10. Half-life period of a first order reaction is 1386 seconds. The rate constant

(k) of the reaction is :
(A 05x 10357t
B) 50x10°s!
© 5x102s7!

D) 05x 10257}

56/2/2-12 7 VWMWY P.T.O.



11. fore) sramsusiiar faei & Scfld faeae o a9 @« 1 STufdes 19999 00225
2 | 7l facid 1 HieA-3191 2

(A)
(B)
(C)
(D)

0-80
0-725
0-15
0-0225

12.  AMfRAT 2A + B, —— 2AB

o fetw srfufskan am feam = 8

I = k [A]? [By).

1 TR (k) T A ST ST HohlT @
(A) A <hl 9rgdr sget

(B) B =l Higal sgreht

(C) dM sgreht

(D) 3I9gFa gt dHF & g

97 G&IT 13 @ 16 & 70, 31 %97 130 70 § — 574 0 &1 Af9wI7T (A) TIT
g@? &1 BT (R) FIT ifba (a1 797 & | 57 T91 & &gt 3w 19 137 718 @it
(A), (B), (C) 3% (D) & @ gaa Gy |

(A)

(B)

C)
(D)

56/2/2-12

AT (A) 3T HRUT (R) THT Tal 8 3T HRor (R), AR (A) 6
e AT HLdT B |

AR (A) 3R R (R) AT HEl &, Tg SR (R), AR (A) i
g SqTEAT T8l LT 7 |

3R (A) T& 7, Wg SR (R) T 7 |

RFHAT (A) T4 8, T HRUT (R) T 2 |
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11. The relative lowering of vapour pressure of an aqueous solution
containing non-volatile solute is 0-0225. The mole fraction of the

non-volatile solute is :

(A) 0-80
(B) 0725
(C) 015
(D)  0-:0225

12.  The rate of the reaction 2A + B —— 2AB is given by
Rate = k [A]® [Bol.

The value of rate constant (k) can be increased by :
(A) increasing the concentration of A
(B) increasing the concentration of B

(C) increasing the temperature

(D) all the above three

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

56/2/2-12 9 VWMWY P.T.O.



14.

15.

16.

17.

18.

S7fFIT (A) : WRfes muties THAT 1 foma Afsua dfease dvaww g

foperT ST SehaT B |

FRU(R):  Ufcohd aoases AfTHgs 9 Ued ROMA o 91 ATIToRCEf]
eI iaT @ |

37fFT (A) : RNA T G ek Iufedrd giar & |

FRU(R):  RNA TIYqeR0 &Hdl 8 |

ST1UHYT (A) : UlcTthideh UHHI o SEUANIH @aul WA UHHT i o
3ferep TRl B § |

FRU(R):  CUHTEH WHHT & SEUAR=HE AU 3THTE S0d & |

fpe (A) - Ufeha <t emen WiRfeme ((U)—NHCOCH3) %1 aRshE
AT g |

FRU(R): U & THifeed & SRor Waefange o AEeeH W sade

gcd 9 ST © |

LCLCRC

frafafaa uer = afenfva Hifse 2x1=2

(%) 3MaYTh WAl A

(@) —foAsiierss

(%) Afieni & F=fdfed @ 4 @ - Afes s daar § Syl
THfshaT shiar & TR &I 2

¢ H—CHyC1 @ran (_ )—CH,yCl

(@) fr=fafea o g 3aarg fafeu - 2x 1=2

@ Bry , TUSTHI e
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13. Assertion (A) :

Reason (R) :

14. Assertion (A) :

Reason (R) :

15. Assertion (A) :

Reason (R) :

16. Assertion (A) :

Reason (R) :

17. Define the following terms :

Aromatic primary amines can be prepared by Gabriel
phthalimide synthesis.

Alkyl halide undergoes nucleophilic substitution with
anion formed by phthalimide.

Uracil base is present in RNA.
RNA undergoes self-replication.

Diazonium salts of aliphatic amines are more stable than
those of aromatic amines.

Diazonium salts of aromatic amines show resonance.

Acetanilide (¢_)—NHCOCH,) is less basic than aniline.

Acetylation of aniline results in decrease of electron
density on nitrogen in acetanilide.

SECTION B

(a) Essential amino acids

(b) Nucleotide

18. (a) In the following pair of compounds, which compound undergoes
Sn1 reaction faster and why ?

¢ d—CHyCl OR {_)—CH,CI

(b)  Write the major product in the following :

)

56/2/2-12

Bry, UV light

~
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20.

21.

22,

23.

24.

56/2/2-12 12

foret yom wife i stfafsha &1 o s 1-25x105 s 8 | 39 1fiyerties
5g ol 25 ¢ T T U a1 Tmg <o ? 2

[log 2 = 0-301, log 3 = 0-4771, log 4 = 0-6021 |

(F) TS 3THaE FAT 2 ? A AHa hl gorl H Teh e 8 G

awd o o9 Ufearag mehan 2afereh giar 8 | &= 2 1+1=2
Srra
(@) GshHY gTge HUH TATH o I O R guid! & ? 3d-2vft § fopm o
Sl HUE TN TEH HH 8 ? 1+1=2

IR (WIeR 90 = 60 g mol 1) 1 4% foerm fordt sr3ma e gard &
5-2% TITT o WY THUER 8 | 3T Hleifeh qard 1 310 YR iehferd

hITTT | 2x1=2
Qs 1

qE H 17°C | 27°C Toh Jhg el W Tohell T 1ffshan &1 of1 @4 1 &1

ST 2 | 39 AfulRan o foe Afshae St w1 aienad I | 3

[fean T 2 :2:303 R = 19-15 JK " mol L, log 3 =048 ]

ﬁﬁiﬁ%ﬁéﬁTﬁﬁﬁeﬁfﬁiiﬂ.ERH(enﬂ)Q@EFﬁ*HEﬁﬁﬁQ: 3
Zn (s) | Zn2* (0-1 M) || Sn2* (0-:001 M) | Sn (s)
fn @ 2. E) 01y =—076V, Eg 24/, =—014V

[log 10 = 1]

283 K T ot fIet™eh &1 917 g& 100 mm Hg 8 | 38 F foe™ &1 a9
a1d giehfaa <hifere fomem 283 K W fopelt yoat fofa-oaeed AB &1 1 Hid
foemes & 50 9Ia § 9ol 8 (I8 AW oiifoie foh T AB quia: fomifSia &1 S
) | 3




20.

21.

22.

23.

24.

A first order reaction has a rate constant 1.25 x 107 s~*. How long will
5 g of this reactant take to reduce to 2-5 g ? 2
[ log 2 = 0-301, log 3 =0-4771, log 4 =0-6021 ]

(a) What is lanthanoid contraction ? Actinoid contraction is greater

from element to element than lanthanoid contraction. Why ? 1+1=2

OR

(b) Why do transition metals have high enthalpy of atomization ?

Which element of 3d-series has lowest enthalpy of atomization ? 1+1=2

A 4% solution of urea (molar mass = 60 g mol™!) is isotonic with 5-2%
solution of an unknown organic substance. Calculate the molecular

weight of the unknown organic substance. 2x1=2

SECTION C

The rate of a gaseous reaction triples when temperature is increased

from 17°C to 27°C. Calculate the energy of activation for this reaction. 3
[Given : 2-303 R = 19-15 JK " mol %, log 3 = 0-48]

Calculate emf of the following cell : 3
Zn (s) | Zn%* (0-1 M) || Sn2* (0-:001 M) | Sn (s)

Given: Ey 9:/y =—076V, Eg o1/ =—014V

[log 10 = 1]

The vapour pressure of a solvent at 283 K is 100 mm Hg. Calculate the
vapour pressure of a dilute solution containing 1 mole of a strong
electrolyte AB in 50 moles of the solvent at 283 K (assuming complete

dissociation of solute AB). 3

56/2/2-12 13 VAWMV P.T.O.



26.

27.

28.

freforfaa siileanet § A, B 3 C i Gt iR - 2x1§=3

KCN NaOH + Br,

OH™
%) CHs3-CH;-B >A—— > > C
(%) 3T 2T SATTTeh e ST
NO,
@) @ Fe+HCl  , NaNO,+HCl . CpHOH
273 -278 K
frfeiiad @ deg Afushan fofem - 3x1=3

(%) dleh-ThyR T==H
(@) TarmEifegem stfufsn
() SRR sfufsRa

Fr=faRga & fomm & fou rfufsrenstt & gt A5 (15 77) 3x1=3
F)  FARSE 9 AT

(
(@) e @ afcrdfeegss
(
(

) UHEE H 2-HTR U

)  HHE o fufshs o

ffefga = fou sror difv . Sx1=3
(%) FAKH JUMU IO ATIh g & R ol I8 WHRH Forae et
e SAfufshanet # S1e /90 fewe 7 |

(@) fufies fsor geor sreoies giar @ |

(M) AU FASS i 3TUET UfeTad FAss STferes e o Sa-2qa=fed &
ST 3 |



26.

27.

28.

Write the structures of A, B and C in the following reactions : 2x1 é =3
- NaOH + B
(@ CHg—CH,—Br SN o OH g TaOH+Pn |
Partial hydrolysis
NO,
o) @ Fe+HCl  , NaNO,+HCl . CHOH
273 -278K
Write the reaction involved in the following : 3x1=3
(a)  Wolff-Kishner reduction
(b)  Decarboxylation reaction
(c) Cannizzaro reaction
Give the equations of reactions for the preparation of : (any three) 3x1=3

(a) Phenol from chlorobenzene
(b) Salicylaldehyde from phenol
(c) 2-Methoxyacetophenone from anisole

(d) Picric acid from phenol

Give reasons for the following : 3x1=3

(a) Chlorine 1is ortho/para directing in electrophilic aromatic
substitution reactions, though chlorine is an electron withdrawing

group.
(b) Racemic mixture is optically inactive.

(c)  Allyl chloride is hydrolysed more readily than n-propyl chloride.

56/2/2-12 15 VAWMV P.T.O.
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FHETITRET J97 -STTERT F97 & | 39 %1 S9a% TgT 3K 157 77 o] & I Giaq |

29. THUU UG % IS UCAI] HUAAT FET H d-Heh YU Bd & | T
et O oAifieh Wi d-herehl Shi Iufedfa dshHT aal bl TSHHY dwdl d
TR L el B | AT €9 U 9Ra d-hefehi o HRUT A T o AT
U7 SR @, 9 3THeh SATFEHIHT HATLIAT, T AT T FT qAT 3P ThK
% et = @ dgpar fwior enfy | Eshmor anqd qen Sk AR SR O T
I FIgR Ht TId & | FehHY G1gU AT HAR AT Acq arsaefiar gidl
8 1376 E° v o THI i St aiadt ggfa gl 2 -

M2/
0
Bz
\% ~118
Cr ~- 091
Mn ~118
Fe —0-44
Co ~0-28
Ni ~0-25
Cu +0-34
Zn ~ 076
freferfad gt o I G
(%) TorE STTUR W 89 g Tehd 2 T Cu T TshAY O & oifehd Zn &l ?
(TTHTY] SFHTR : Cu = 29, Zn = 30) 1
(@) wshHY da STTeRiTehtuT 3raeertati | fafaeran =i guiia 2 2 1

56/2/2-12 16
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SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Transition metals have incomplete d-subshell either in neutral atom or in

their ions. The presence of partly filled d-orbitals in their atoms makes

transition elements different from that of the non-transition elements.

With partly filled d-orbitals, these elements exhibit certain characteristic

properties such as display of a variety of oxidation states, formation of

coloured ions and entering into complex formation with a variety of

ligands. The transition metals and their compounds also exhibit catalytic

properties and paramagnetic behaviour. The transition metals are very

hard and have low volatility. An examination of the EK/{2 +

shows the varying trends :

EK/F*/M
\Y% - 118
Cr -091
Mn -1.18
Fe - 044
Co —0-28
Ni - 025
Cu +0-34
Zn - 0-76

Answer the following questions :

values

(a) On what basis can we say that Cu is a transition element but Zn is
not ? (Atomic number : Cu =29, Zn = 30)

(b) Why do transition elements show variety of oxidation states ?

56/2/2-12
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30.

56/2/2-12 18

(i) TShHY GTgSTT H ATerdIehtur STaEened i giad-rdr STHshHvT adi

1 giga-aar 9 fore R f9=1 gidl 8 2 2x1=2

HAYAT

(M () Cr’* Ysd AU=EH & s MnS Uadl SAieieheh, Seieh il
& q* wfisfisr €, = 2
(9T 3hHT : Cr = 24, Mn = 25)

(ii) ﬁmamﬁawﬁamuﬁﬁﬁq 9% ]=9

2MnO, + H)O+1™ ——

FHeTarsge e 3 TRT gHi § Sfed & e mawes 8id 8 | idi § W™
! TG N TR | TATgehISH o &9 H hIEigRee TUEY U i Wifd T
qd 3 | TARe &9 ¥ A difcresgidt Ufesags A¥ar HIKH Bd & |
FEEES Hl TA-TH H IToh AGER o AYR T AHIGRSS,
TR Uss R UifcThise | arfiehd fohel T 7 | At WSS o=t
AU BT 8, AT A o SATHhH a0l Hiow faer & sifadisd gl i & |
TRIE ST AFIARUSE UrSladdls BT 8 3T $Heh! 3T § CgHyg0g T
T | fafy= srfyeptent S HI, HoN — OH, SiHH 5id, (CH3C0),0 Smie @
T IAATGRAT ek 3Heh! T H Toh Ufcsass dig, T TAMH® Ueehlgicish
T8 (- CHyOH) 3R IR fgdiwe Uehigias &g (>CHOH) 9T U |
ufeeaise HYg 3UMEud Bid gU Wi ke Ufceaiss dqg hl $© AMGRIT JH
3 wdiegur, NaHSOg 30t 781 a1 B | I8 ™ & & Fshid gHIvEed i
% JAfeaca =l augmar & fH f=rar had C - 1 W 3ufedq gsgifead T &
fommer & 2t 2 |




(¢c) (@) Whydo EI(\)/IZ L values show irregular trend from Vanadium

to Zinc ?

(ii) How is the variability in oxidation states of transition metals

different from that of the non-transition elements ? 2x1=2

OR

¢ (@) Of the d* species, Cr?t is strongly reducing while Mn3* is
strongly oxidizing. Why ? (Atomic number : Cr = 24, Mn = 25)

(i1)) Complete the following ionic equation : 2x1=2

2MnO; + HoO+1™ ——

30. Carbohydrates are essential for life in both plants and animals.
Carbohydrates are used as storage molecules as starch in plants and
glycogen in animals. Chemically they are polyhydroxy aldehydes or
ketones. On the basis of their behaviour on hydrolysis, carbohydrates are
classified as monosaccharides, oligosaccharides and polysaccharides. All
monosaccharides are reducing sugars, i.e., they are oxidized by Tollens’
reagent and Fehling’s solution. A monosaccharide like glucose is
aldohexose and its molecular formula was found to be CgH1904. After
reacting with different reagents like HI, HoN — OH, Bromine water,
(CH3CO)90, ete. its structure was found to contain one aldehyde group,
one primary alcoholic group, (- CHyOH) and four secondary alcoholic
groups ( > CHOH). Despite having the aldehyde group, glucose does not
give some of the reactions of aldehyde group like Schiff’s test, NaHSOg4
addition. This explains the existence of glucose in two cyclic hemiacetal
forms which differ only in the configuration of the hydroxyl group at
C-1.

56/2/2-12 19 VAWMV P.T.O.
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31. (%)
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TR IR AT Bl 8 2 1

frfcRad s AFERUEE 3R SEdhUse | afiehd shIfT :

Shaeid, gehid, Taeid, Ticaeid 1

3G U8 USE Rl W 3y S8 ofi e el Jdr 8 | 38 ot
T 41 $hed & ? 2

1)

(i1)

(1)

(i1)

HAYAT

HRIE % I GHIEIA! o AW FdsC Tk ThiI FIH C - 1 W

— OH 99g % fo=rme § & fireram &t 2 |

HE H Bry @ & @iy AMlRAT fRE SehRITcRss wEg I

Iufeufa =t gy =t & ? 2x1=2
WUE T

0-05 M CH;COOH foe@e w1 Wiatig 100 318 9 T | g
I fo® 00354 cm™! B, 91 UHifesw ateal faereH i dien
TTAhdT TNehieTd ehIfaTY |

B o foRd-aueed 1 YoM W fafgu | 1 Al MnO) i
Mn?* & q=Ed % T Hue § fopad stamt <A1 SArawehdr gt 2
3+2=5

HAYT
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Answer the following questions :

(a)

(b)

(c)

(c)

31. (a)

56/2/2-12

What are reducing sugars ? 1

Classify the following into monosaccharide and disaccharide :

Fructose, Sucrose, Lactose, Galactose 1

Name the polysaccharide which is known as ‘animal starch’. Why is

it called ‘animal starch’ ? 2

(1)

(i1)

(1)

(ii)

OR

Name the isomers of glucose which in the cyclic form differ

only in the configuration of the — OH group at C — 1.

Presence of which functional group was detected when

glucose reacted with Bry water ? 2x1=2

SECTION E

The resistance of 0-05 M CHSCOOH solution is found to be

100 ohm. If the cell constant is 0-0354 cm_l, calculate the

molar conductivity of the acetic acid solution.

State Faraday’s first law of electrolysis. How much charge in

Faraday is required for the reduction of 1 mol of MnO, to

Mn2*t ? 3+2=5

OR
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i)  0-0025 mol L~ WEifess arvat &1 Tetehal 525 x 10° Sem L § |
Ife UElifess 3t & fIT AL, 1 A 390 S em? mol™! &, @

o O N

gHen[ IS HEAT bl qiehar aﬁ”:_ﬂQ |

(i) IS HAH 9l % VIS, helle i wuy aifufsean fafaw | 3+42=5

32.

56/2/2-12

1|'\(\

Rgd o 9 fordl gier & I AT . 5x1=5

HTFAh HFal hl fsheedd & foured Foi (A) ForE TR Iqherehia

G ol fodred il (o) H Fa¥d @ ?
frfaRaa s%a 1 IUPAC ™ fafE

[PtCly(en)g] (NO3),

ARl AEY fgia (VBT) & YR W T%d [Ni(CO),] T Samfufa
3R gashia =agR fofau |

THd [Co(NH;)gl [Cr(CN)g] o g fohd JehR 1 HHTE=IEAT guIs STt
3?7

foreeat &= fagia % amuR W forell swwgEaeH Afie § 4 s W
g eh [o=aTE Ty Afc A, < P &1 | &1 I8 IUEgsaSH Ak 3

TIShUT YT T SIshuT Wbt B 2
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'E El
(b) @) The conductivity of 0-0025 mol L7l acetic acid is
5.25 x 10™° S em™ L. Calculate its degree of dissociation if A(I)I1
for acetic acid is 390 S cm? mol .
(ii) Write anode, cathode and overall reaction of lead storage
battery. 3+2=5
32. Answer any five of the following : 5x1=5

(a) How is the crystal field splitting energy for octahedral complex (A,)

related to that of tetrahedral complex (A;) ?

(b)  Write the IUPAC name of the following complex :

[PtCly(en)s] (NO3)q

(c) Write the geometry and magnetic behaviour of the complex

[Ni(CO)4] on the basis of Valency Bond Theory (VBT).

(d) What type of isomerism is shown by the complex
[Co(NH3)gl [Cr(CN)gl ?

(e) For the coordination compound on the basis of crystal field theory,
write the electronic configuration for d* ion if A, < P. Is the

coordination compound a high spin or low spin complex ?
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(&)  [Co(NH3)gl>* 3 [Co(NH3),Cl)* # & # i Hgpal & 3N
i ?

(B)  [PtClylen)y)®" & TehIfTeh THTEH hl HTEATTE SHTST |

o [Nl e

33. (&) () TafaRea & wro dfw .

(1)  hIHT 6T ol § UfcegIsel o1 ATaiehiol 3T BT 3 |

(2)  UfcsETsEl % VT (o) BISISH WHIYS hl Hpfd STl
Bl 3 |

(i)  freferiaa srffsheneti & seare fofa -
COCHg

NaOH / I,
(1) >? 4+ 9

COCl

(2) @ + (CHg)yCd — ? + CdCl,

(iii) UIHTgh 3TFA 3T T H favie v o fou wea qoamfes gdeqor

dfT | 242+1=5

HAASAT



(f)  Out of [Co(NH3)6]3+ and [Co(NH3),Cly]*, which complex is

heteroleptic and why ?

(g) Draw the structures of optical isomers of [PtCl2(en)2]2+.

33. (a @@
(ii)
(iii)

56/2/2-12

Account for the following :

(1) Oxidation of aldehydes is easier as compared to

ketones.

(2)  The alpha (o) hydrogen atoms of aldehydes are acidic

1n nature.

Write the products in the following reactions :

COCH,

NaOH / I,
(1) >? 4+ 9

COCl

(2) @ + (CHg)yCd — ? + CdCl,

Give a simple chemical test to distinguish between ethanoic

acid and ethanal. 242+1=5

OR
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(@) (1) EA(cSgEs & 2,4-SIETEe% MRS ! TTEHT SHTEY |

(i) F=fIRad sl IFh HCN % Ufd AHTsRameiierT % sed g¢ A |
safedd Iy :

CH3COCH; | (CHg)3C — COCHg , CH3CHO

(iii) 39 BHA THBREE sHEe 1 digeh 37 d 58 TR

-
YT~ hd ?

)

(iv) dafcegse 3 UVAdd H fave = o fau ata et ghe
forfgg |

(v) Trafafea sifufsen § gea scare fofe

(i) NaBH,
Il (1) H
Q) 5x1=5



)  ©®

(i)

(iii)

(iv)

(v)

56/2/2-12

Draw structure of the 2,4-dinitrophenylhydrazone of
benzaldehyde.

Arrange the following in increasing order of their reactivity
towards HCN :
CH3COCH3 (CHj3)3C — COCH3 , CH3CHO

How can you convert phenyl magnesium bromide to benzoic

acid ?

Give a simple chemical test to distinguish between

benzaldehyde and ethanal.

Write the main product in the following reaction :

(i) NaBH,
CH3 -C- CH2 - COOC2H5 — > ?
Il (1) H
0O 5x1=5
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